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AN EX=XD
2 ENRA

tel: SNSRI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXt= R 54,275,171 79,875,701 A\25,600,530
CH 3,000,000
= 51,275,171
SEX=A 3,206,286 3,199,425 6.861
CH 3,000,000
[Ea 206,286
EX=XIIE 3,206,286 3,199,425 6.861
CH 3,000,000
s 206,286
EX= A 206,286 3,065,980 A2,859,694
201 er23 | 153,580 167,080 213,500
01 At2teltl 113,580 136,580 /23,000
0 SUHEASX2EA S 8,780
0 SAEAFY 4,400
o EH7Y 115,000~ 128 1,380
o AIRESHY 2,000
o Z&HIZHY 1,000
0 USRS PPT & 2= MAH(GHSXIT,
& AHE) 14,000
o PPT MIZ 1,500,000 x2H 3,000
o SEAT MA(0I, =)
10,0002 »400F+2H 8,000
o 2XE M 500,000 62 3,000
0 EXNRXl 2 EE2S2(8+2 8) M
80,0002 *30K 2,400
0 Z00HH SXzX 82 70,000
SA=AREe R SARIN2/E] &
S=g XNa 8,400
0 £AmX2e 88 A2l
1,000, 000& 102! 10,000
03 &A= 40,000 30,500 9,500
0 X=Xl &&sl &It
10,000,000 »23] 20,000
0 SAFX N2 28 W
10,000, 000& »23] 20,000
202 04t 10,800 9,000 1,800
01 =LHOHI 10,800 9,000 1,800
0 =ZUH0HI 10,800
o =Uo8I 150,000& 62~ 123 10,800
203 g4l 6,100 5,400 700
03 A=A 2= 6,100 5,400 700
0 SAFX 2= 6,100
301 EtE NS 35,806 4,500 31,306
09 2B =ENHI 34,806 2,500 32,306




SN EXRXID
g EXN=A
&el: SN0 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EVFEEECES: 2,500
0dHel JgARY £ 2,306
o JleiRE x& Ay
300,000&*20H 6,000
o 2BN(E3) =& &3 2¢
723,0002 %108 *13] 7,230
o 2ABN(0I=) =& &3 2
4,769,000& x4 x13] 19,076
11 #AIAHIXIE S 1,000 1,000 0
0 EXARIA=2RE g XA 1,000
2ZN0ILISEER 28 (NEAZUE0IS JI=x) 3,000,000 0 3,000,000
CH 3,000,000
401 AIZHIX S0HH 3,000,000 0 3,000,000
CH 3,000,000
01 Al&H| 3,000,000 0 3,000,000
0 22X0ILISEE2 HE(NEAZUHSI
2 JIx) 3,000,000
CH 3,000,000
HASHUE HAREX| 2= 130,800 105,800 25,000
wns ¥ A2 5 |]A 65,000 15,000 50,000
usg & g2 5 KFAFA 65,000 15,000 50,000
201 er2 3| 5,000 5,000 0
01 AtR2t2|HI 5,000 5,000 0
093 & WIS 7 = 5,000
o HAARE Y ARES 7Y 5,000
401 Al HIZL 201 60,000 10,000 50,000
01 Al&H| 60,000 10,000 50,000
O oLSHEHAALK =B SZZHIAIL 60,000
o HYEUE AR =2ts, AE8S(FL
s S) 2 20,000
0 HASRHE HACK =8 FH| & 2= 40,000
AR Y JI=sAH 2Y 65,800 90,800 225,000
ARE, JIsAt 28 & 22 X2 65,800 90,800 A25,000
201 Ler23 | 22,800 22,800 0
2 S5=24g4l 22,800 22,800 0
0 &2 ey 6,000
03832 € MA 16,800
o M= 1,500,0002 6 9,000
0+=EE 30,0003 +6E 180
OR=FR =S 470,000 ~6& 2,820
o HMHH+r= 4,800
206 M=l 3,000 3,000
01 M=4l 3,000 3,000




SRR
L2 HE HIHA 7=
AR A DA 2Y (St &)
SH - HE - BR(8) - ARAY - BaR A HIDEZ
0 JI=sAt A2l IS 3,000
401 AIEHIX SO 40,000 65,000 A25,000
01 Al&H| 40,000 65,000 25,000
0 HASRHE HAHX A2 RA2c 40,000
0 JI=SAF 28 E=3At 40,000
AFERREY 336,800 1,116,800 A780,000
AHEDREE =& 41,600 981,300 A939,700
AHA TRl JHE X 41,600 779,100 AT737,500
201 Zet=Ehl 32,600 16,600 16,000
01 AtR2telHl 32,600 16,600 16,000
0 &et=SH| 5,000
o MUARE A ANEES & 7Y
500,000& *102] 5,000
0 MAEX XS 27,600
0 QHEDNE AP HOIM QIaf
850,000 82 6,800
o MEDNZ BXIAAN 210 I ME
1,200,000 *62] 7,200
o AHEDHEY A AE dPNE XAHE ME
600,000& *82 4,800
o MEDHE BE XHEHI
1,100,000 +82] 8,800
202 048l 7,200 7,200
01 =LHOHI 7,200 7,200
0 =Uobl 150,000 x4+ 122 7,200
203 =48] 1,800 5,300 A3,500
03 A=A =] 1,800 5,300 A3,500
0 AHEDHEY SRS 1,800
AAEX] K2 295,200 135,500 159,700
AHEX] RX2el 74,200 52,000 22,200
201 Zet=g] 14,200 12,000 2,200
01 At2teltl 12,000 10,000 2,000
025 #iA & otk FH|
3,000,000 43 12,000
02 S3=gHl 2,200 2,000 200
0 =& =3st&4 2 2,200
03832= % HA 100,000& «12& 1,200
0 Al& FXlZcldl 250,000 43 1,000
401 AIEHIX SO 60,000 40,000 20,000
01 Al&H| 60,000 40,000 20,000
0 ZEARAIE BHEEH] & RAlI2dl 60,000
0 ZARAHEE L) B HHIAIY 60,000
sgE+T 72 221,000 83,500 137,500




A FEXEXI
S AEDRE
Rl MHEX FA2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 11,000 10,500 500
01 At2teltl 11,000 5,500 5,500
0 B8+ AME= 412 =4I
3,000,000 *23] 6,000
0 SgE=x &1 22| HIZ #
500,000 *42] 2,000
0 2ZEI}t =2 1,500,000 22 3,000
401 Al HIZL 01| 210,000 70,000 140,000
01 Al&H| 210,000 70,000 140,000
0 ZARNE SEHSE tis=Al 22 210,000
0 SYEST ==Xl =48] & FAl2cl| 50,000
0 SEE+T =Xl 12X 160,000
FRAMEX] JHE 100,410 600,460 /500,050
SRAMEN =4 92,220 592,270 A500,050
SRAMHX 2o F& 92,220 592,270 A500,050
201 er=23| 6.370 6.370 0
01 AtR2te|Hl 6,370 6,370 0
SRUMEX =4 2 2 EE2= ¢
2 217,0002 %102 2,170
0 HUARE A ANRES
350,000& * 122 4,200
202 04l 5,400 5,400
01 SLHoIH 5,400 5,400
0 =LHGiI 150,000 x32* 122 5,400
203 gR=2| 450 500 A50
03 A= PR F&IH| 450 500 A50
0 F=dM g2 =& 450
401 Al HIZ R 0HbI 80,000 80,000
01 AlZ8| 80,000 80,000
0 GFEZStS I 212012 JIBAEEd 2 Al
=N 80,000
= SX 24 8,190 8,190 0
BH=EX 24 =& 8,190 8,190 0
201 er23 | 8,190 8,190 0
01 At2teltl 8,190 8,190 0
0 B2a=d 2g=5 Y
367,500 43 1,470
0 24g2 o= M 210,000 %102 2,100
0 24l 29 700,000 32 2,100
od2sus ¥ B 8+
420,000 62 2,520
HEXNZ 16,980 10,020 6,960
HEXE 16,980 10,020 6,960
HEXH 22X 16,980 10,020 6,960




A FEXEXI
M HEXA
el HEXE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,080 3.120 6,960
01 At2teltl 10,080 3,120 6,960
0 HAUADE Y AREE 2Y
260,000 * 122 3,120
0 523 &2 d HIE & =578
580,000& * 122 6,960
202 04| 5,400 5,400
01 =LHO LI 5,400 5,400
0 =LH0IHI 150,000 x3&* 123 5,400
203 HR=H] 1,500 1,500
03 A=A RN 1,500 1,500
0 HEXNH g4 1,500
HH2LIHI(FXRXID) 25,360 0 25,360
JI2&d| 25,360 0 25,360
SZH(SEXNHSI ) 25,360 0 25,360
201 2egh=3| 21,760 0 21,760
01 At2t2ltl 21,760 0 21,760
0 2N2ILL2H|(38)
560,000 %169 8,960
0 2A2SSEHI(SS)
8,000 x16&»100& 12,800
203 =4l 3,600 3,600
04 FAE2EERFAH 3,600 3,600
0 FASHERFHI 300,000 * 122 3,600
HRes (ST 50,458,535 10,000,000 40,458,535
WA XIE 50,458,535 10,000,000 40,458,535
WEHHXIZE 50,458,535 10,000,000 40,458,535
701 JIEtI HSHES 50,458,535 10,000,000 40,458,535
01 JIEt=IHE ES 50,458,535 10,000,000 40,458,535
0 MHHAXTYSEINH HES 50,458,535




